AN (R BFE) 2 m&Fz 2 8

SHAFEE
S E ml=sns B4R . BF STAE6R 4|
AAMKAKBRRIEAEHRE = oIk E T D ONE KD = .
% AL SHAE108 T4a
SREERIZANSME RTEBOER _ _|$Mm4E5B 3B FET 9:00
B R % ® % = AH BAOBESH N S o
EEEBEFICHOLC XB0ESRE 5 OB B & 5 2HBE2RFBE
¥ B M E B B OB F H A = m wn| |29 mame nn | | 60ILOO A
) tE = N 2
- = Bk | £ 15 %1 18 i 45| 4,082,000 M
< £ 1 ME % 2 @ % 3 [
HARA B E LA REEES R
NS ALRBEE| B (AHLRBEEE| B | ALRBEE| IEL
== = s~ -
C10000009| (#) KPESHEH #EE %/ TH EE %1 SELrﬁEE TR S 2 0 3,580,000 | L&
€10000011| (#) 7 K/8> R %y kRFD EE EZX %5%55?ﬁb\%b$ilﬁ4 3,660,000 | &#%
€10000014| (#) AEIALHILE D b A % BiRESATASAS 5 3,630,000 | L&
¢10000032| (#%) BETY/ TS5 HEEER =P HE BIRESATATAA 2 - 9 3,650,000 | &#% 4 EH =K F| PR+
C10000034| () BTG b WEEER (BB %2 BRI EAEEAT 4 0 6 3,600,000 | 4% TFE>o-A. A%
_ - R EREZAMTEHA 3 6 4 ~
C10000051 | (#) =R =6 E# A 3,590,000 | &k#%& EYELT -,
¢10000056| () LI 4 =@ TR OET BRESATEA1E338 3,500,000 | &%
10000125 (¥k) BRH+R 2 LR mH 15 %ELE“QEEFHZ%EH 846 3,580,000 | 1%
€10000190| (#) H- > HAEZERR =# IER %%%ﬁmﬁ%iﬁt -16- 3,600,000 | L&
C10000191| (4%) BRFDRBEETBHA R #® %E%QEFH%A' STa- 3,480,000 | 1%
10000226 Fé**) REBWALHINE U BEHER (g4 %%%Emfﬁiﬁmm1 956 3,600,000 | 4%
C10000240| (#) H TR FEAE LR hE EAR %§§§§£§%g®§W7 3,580,000 | 1%
C10000254| (#) HA /Ny IHEE LR e ER %*GEL“EEEFHZ”EHS 27 3,600,000 | L&
10000269 [LLEZEAFE I 9L R > b () B 2 %?%mﬁﬁﬁx%ms 8 3,600,000 | 1%
C10000381 |dLIBHEEE (#) HEEERMR Rl B BRESATHETAA42 - O 3,600,000 | L&
S 2 EMBEER z R E RGN 5
10000439 (%) 7 FS5 R EMBFEEAH Kk =M %gﬁﬂﬂgﬂ Syl & 5 3,650,000 | 1%
C10000535| (#) TA T w4 HMEEER +a BH %*E%?ngg%ige_1 6- 3,650,000 | L&

B ERBEICHERICHA T SEHEMELSENEE LORILEEE



